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D? = {(x ~ %06 =% )S™ + (%~ %)X, =% )87 -+ (x, %, )x, X, )5
.'"(Xz =% )04 =% )8 + (X, = %, X, = %, )% 4+ + (%, — )_(2)(Xp - )—(p)SZp

+(Xp —>_<p)(X1 - %, )S™ +(Xp _)_(pxxz - %,)S" +"'+(Xp _)_(pxxp _)_(P)Spp}(

D? = {(X1 - )_(1)()(1 - )_(1)811 + (Xl - )_(1)()(2 - X% )Slz
+ (Xz =X, )(X1 —% )821 + (Xz =X, )(Xz =X )822}( - 1)
= {(10-7.7)10- 7.7)x 0.0657 + (10— 7.7)(110 - 156) x 0.0004
+(110-156)(10— 7.7)x 0.0004 + (110 - 156 {110 — 156)x 0.00001}(10 - 1)
=26
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F(1, - ~1,0.05)= F(110- 2-1,0.05)= 5.6

F(, - ~1,0.01)= F(110-2-10.01) =12.2




